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167.71 ~ 6.09 x 4.11 = 79.86% of ?
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\Q‘/ B.168
C.190
D.140

E.260




768.16 - 11.87 xv/267—- 58.05 =?
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A.1033
B.1175
C.966
D.880
E.975




S, 7.25, 13.5, 25:75,46,. !

A.70.25
B.71.25
C.73.25
D.75.25
E.76.25




20x” —108x + 144 =0

8y’ - 18y +4=0




(18.04 x 19.88) ~ 6.97 = (?)*




[{(155 +4)+12.96}]* + (1 /2) x (63.03 x 18.02) = (?)*
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A.24
B.39
C.51
D.14
E.46




789, 900, 1122, ?, 1899, 2454




x?-13/2x+ 80 =0

y2 - 15VZy + 100 = 0




\/1296.001x 15.99 = 3.6 ++/1155.789 x 5.989 = ?

<‘ o \> A.312
€Y 1) B.365

C.146
D.245
E.432




(44.95% of 1200) + (65.06% of 800) = ?
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\/ A.1060

~/ B.1240

C.860
D.1860
E.1520




16.67% ot 5400.001 + 12.5% of 719.99 = ? — 659.98

( — \> A.1820
oY 1) B.1240

C.1650
D.1380
E.1150




198.05 x 126.05 ~ 76.87 + 178.44 — 294.77 = ?

7=\ A324
"9 \ B.315
C.295
D.154
£.207




59.71% of (207.93 + 218.09) = (?)°
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D.19
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1442, 722,364, 187, 100.5, 59.25, ?

C.42.625
D.44.625
E.36.625




23.995 % ot 299.678 — 45.3% ot 89.9009 = ?

\ A.32
/] B.18
C.54
D.68
E.72
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2x*+3x-35=0

4y + 10y — 104 = 0




205, 277,319,339,

(@

\ A.354

B.355
C.364
D.364
E.345




3x’-8x—-16=0

3y’ — 19y +28 =10
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}\ A X>Y

v + 13y +42=0

B.X<Y
CX2Y
DX <Y
EX=Y
or CND



2, 2, 64, 1024, 32768




Directions: Pie chart shows the number of workers in different companies. .
Table chart shows the ratio between employees and workers.

Total Employees = Total Officers + Total Workers

Total Workers = 6000




Find the ratio between officers of company A and employees of company D ? @\
HUAT A o ATRTRAT SR THUAT D o HHETRAT o sitel hT FTATT AT Rl T ?

Total Workers = 6000

1.2:11
2.3:28
3.5:32
4.2:17
5.NOT




Officers of company A are what percent of the officers of company E ?

HUAT A o TR hUAT E o6 STIRTIET & feha atasra 82

Total Workers = 6000 1.25%
| 2.66.66%

3.37.5%
4.50%
5.NOT




Officers of company B are how much percent more or less than employee of

company E ?

HUAT B & ATUHHET U E &% wi=rt O feraw ufasra arferes o v &2

Total Workers = 6000

1.80%
2.83.33%
3.14.28%
4.28%
5.NOT




Find the average between officers of A, B and E ?

A, B 3T E o SATeRTIET o i<t oht 37 @d FTd hifer?

Total Workers = 6000

1.500
2.700
3.900
4.1200
5.NOT



Find the ratio between officers and workers ?

STAHTIAT ST HTAITRT o ster ST SFTUTA AT Rl T ?

Total Workers = 6000 1.17:50
| N 2.22:45

3.19:32
4.65:132
5.NOT




Find the difference between employees and officers ?

HHATET ST STFRTIEAT ok el ST TR FTA HITT 2

Total Workers = 6000

1.8040
2.6000
3.4000
4.4200
5.NOT



